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. Ol MI1) Solution

#include <iostream=
using namespace std;
void main()
{
intn; in2] 42 20 0[5}
cout=<"200|512| A}H S8 LTI R "<<e
cin==n;
intarray1[20]={0}; /&%
int array2[20] = {0 }; /H A
array1[0)=1;
for(inti =0;i= n;i++)
{
for(int j=0 ; j=nj++)
{
iffarray1[j}==0)
break;
cout=<array1[j];
}
cout=<endl;

array2[0] = array1[0];

int m=1;
for(int i=0;i++)
{

if((array 1[i) + array1[i+1])==array1[i])
{

array2[m] = array1[0];

break;

}

else

array2[m] = array1[i] + array1[i+1];
m++;
}
for(int i=0;i++)
{
iftarray2[il==0)
break;
array1[i) = array2[i;
}
}
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int main{void)

i
Time timel1{10})
Time time2(10, 20x
Time time3{10, 20, 30%

timeZShowTimel )
timezShowTimeinSec():

return O
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. Oil MI2) Solution

class Time void ShowTime()
{ {
unsigned long m_unTime: int nHour:
int nkdin:
) int n>ec:
public:
Timelint nHour) nHour = m_unTime/3600
I nidin = {m_unTime - nHour+3600)60
m unTime = nHour+3600: nSec=m_unTime = nHour+3800 = nkin*&0;
i cout < °[" {{ nHour <Al © < nMin << "8 "¢<{nSec {"E]"¢end:
Time(int nHour, int nMin) X
{
m_unTime = nHour*3600+ NMin+60: void ShowTimeinSecl)
1 {
) ) _ - cout <{ m_unTime ¢{ "&"{<endl:
Timelint nHour, int nMin, int nSec) L
{ k

m_unTime = nHoursk3600 + nMin*60 + nSec:
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. Ol MI3) Solution

#include <iostream
using namespace std;

int gen(int num)

{

int genNum = num;
for(;;)

) if(num == @) break;
genNum += num¥%19;
num = num/10;

}

return genhNum;

}

int main()

{
bool isSelf[5000];
int g;
int sum = 9;

for(int i=0; i<5000; i++)

. isSelf[i] = true;

}

for(int i=0; i<5000; i++)

<
-

g = gen(i);
if(g < 5000)

-
-

isSelf[g] = false;
by
}

for(int i=0; i<5000; i++)

<
-

if(isSelf[i])

<
8

sum += 1i;
by
}

cout<<sum<<endl;

return 9;
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